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Outcome 3 - Integrating inverse trig functions with substitution

Worked Example: 1. Take the constant out Advanced Higher /,
2. Use the formula sheet! Formula sheet
8
Let u =2x
Calculate J.i dx 1 J
\49 — 4x2 - - du_ f(x) f(x)dx
V(7)2=(2x)? dx
1
_ af— dx du =2 dx S ()4
V49 — 4x? du_ g S a
1 du ’ 1 1
= 8f E > 3. Make your substitution Z 122 Etan‘l (E)‘F c
—H 4. Replace u with x term
1
=4 ——d .
f Ny Key Facts/Formulae: =C
If a function is multiplied by
N u a constant, you can take the
= 4sin = |Tc¢ constant outside of the integral
sign and deal with it at the end.
e =tfL
7
Questions...

Calculate each of the following integrals.
j’ 21 d
— dX
= V16 — 9x?

6
[
V25 — 4x?2

dx

f 24

V121 — 16x2
f 16

2 9+ 64x2

27
g
= f4+81x2 x
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Answers
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. ) _x
= 3sin (5)+

dx
=9 6sin~ (—1) +c

3
pi 7sin ™1 ( x
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P atan_:l (E) +c
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